| 2 | BAO—FL—R(ZF) R result

NO KE 4% T B =k S time =X
15 BEA HPH PN 2 36'55"42 1
16 I RIE PN 1 38'53"59 2

| 3 | BAR—FL—X(BF) R result
NO K 4% B A time NE4Z
2 25 #— EENE 3 25'19” 57 1
6 AZTF &3} FENE 2 27'14" 22 2
4 KB BX EENE 3 28'32" 64 3
1 JIi& B EENE 3 20'07” 44 4
10 g #2Th PN 2 20'22" 82 5
3 flik HL PN 3 29'23" 49 6
14 ke BEZN S 2 29'29” 19 7
13 5|35 1EFR PN 1 30'38” 91 8
9 =F &5 PN 2 31°02” 43 9
5 EFE B RN 2 31'27” 58 10
7 BHa B PN 2 31°27" 62 11
8 WA f# PN 2 35'12” 88 12
11 B Eh PN 1 40'19” 48 13
12 Xkig B3 PN 1 DNS




